
Parts Breakdown BHP451

Page 1 of 2 2/8/2008



Parts Breakdown BHP451

Fig # Part ID Part Name Quantity
 1 861822-1 NAME PLATE, BHP451  1
 1 862348-6 NAME PLATE, BHP451  1
 2 188031-0 HOUSING SET, BDF451  1
 3 266130-9 TAPPING SCREW PT3X16, 6233DWA  8
 4 125316-3 SPEED CHANGE LEVER ASS'Y, BDF451  1
 4 125435-5 SPEED CHANGE LEVER ASS'Y, BHP451 BDF451  1
 5 419250-0 F/R CHANGE LEVER, BDF451  1
 6 650573-9 SWITCH, BDF451  1
 7 631692-0 LIGHT CIRCUIT, BDF451  1
 8 643812-4 TERMINAL, BTD140  1
 9 251468-5 F.H. SCREW M6X22, BHP451  1

 10 763191-5 KEYLESS CHUCK 13, BHP451  1
 11 253798-0 F. WASHER 13, HP2010N  1
 12 125317-1 GEAR ASS'Y, BHP451  1
 12 125317-1 GEAR ASS'Y, BHP451  1
 12 125430-5 GEAR ASS'Y, BHP451  1
 13 638425-4 YOKE UNIT, BDF451  1
 14 619165-3 ARMATURE, BDF451  1
 15 638431-9 BRUSH HOLDER CPL., BDF451  1
 16 194427-5 CARBON BRUSH SET CB-440, BHP451  1
 16 194159-4 CARBON BRUSH SET CB-436, BHP451  1
 17 263032-0 RUBBER PIN 4, BTD130F  2
 18 419249-5 REAR COVER, BDF451  1
 18 419642-3 REAR COVER, BDF451  1
 19 266130-9 TAPPING SCREW PT3X16, 6233DWA  2
 20 911006-2 P.H. SCREW M3X8, 6233DWAE  1
 21 689145-3 HEATSINK, BDF451  1
 22 232220-0 LEAF SPRING, 6339DWDE  2
 23 188031-0 HOUSING SET, BDF451  1
 24 266045-0 TAPPING SCREW 4X20, 9046  4
 25 324553-8 HOOK, BHP451  1
 25 324705-1 HOOK, BTW251  1
 26 251314-2 SCREW M4X12, 2012  1

 1,001 122576-8 STOPPER POLE ASS'Y, 6343DWAE  1
 1,002 122750-8 GRIP ASS'Y, BHP451  1
 1,002 122750-8 GRIP ASS'Y, BHP451  1
 1,003 251314-2 SCREW M4X12, 2012  1
 1,004 419276-2 BIT HOLDER, BDF451  1
 1,006 194205-3 BL1830 BATTERY,LXT400, 3.0AH  2
 1,006 194205-3 BL1830 BATTERY,LXT400, 3.0AH  2
 1,007 784637-8 PHIL./SLOTTED BIT 2-45,6337D  2
 1,008 824754-3 PLASTIC TOOL CASE, BDF451  1
 1,008 824754-3 PLASTIC TOOL CASE, BDF451  1
 1,008 824754-3 PLASTIC TOOL CASE, BDF451  1
 1,008 824754-3 PLASTIC TOOL CASE, BDF451  1
 1,008 824754-3 PLASTIC TOOL CASE, BDF451  1
 1,008 824812-5 PLASTIC TOOL CASE, LXT202  1
 1,008 158185-7 N/A  1
 1,008 158185-7 N/A  1
 1,009 450128-8 BATTERY COVER, BSS501  1
 5,001 810264-6 N/A  1

Page 2 of 2 2/8/2008


